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\[EE 1 ERHE | 25 ha ha |BIBEE | 25 ha ha| 1
2| FE 2 EHE. k| 3.0 ha ha |E#%Hx. k| 3.0 ha ha 2
3| FIAE 3 K i 27 _ha ha | 7K 27 __ha ha 3
4| FIEE 4 K 02 ha ha | K7 02 ha ha 4
5| AE 5 E= 26 ha ha [TEE 26  ha ha &
6| BE 6 wx.gwuxE A% 1.4  ha ha [Es. Bwmz. x| 14 ha ha 6
iES 7 ft= 23  ha ha |TES 23 ha ha 7
EIEES 9 KT 04 ha ha [7KT@ 04 ha ha 9  I8IER%H
o FIEE 10 EmEHsE. kfE| 0.7 ha ha |EtEH%. k%E| 0.7 ha ha 10
10| FIEE 11 KiE. BHEHE| 25 ha ha |k#E. BtEHx%| 25 ha ha 11
11| ZBE 12 EMEHxE k|l 04 ha ha |E#EH%E. k| 04 ha ha 12
12 & 13 BHFHE | 02 ha ha |FEMEFE | 02 ha ha 13
13| ZE 14 EHE. K| 55 ha ha |E#%HxE. k| 55 ha ha 14
14| Z2& ’% 15 RER. RO, K 14 ha ha |tessseszaaE | 1.4 ha ha 15
15[ HE 16 s Bw%E A%| 3.7 ha ha [t=.@emz.xm| 3.7 ha ha 16
16| RE 17 BEHEFR | 26  ha ha |FEHEFSE | 26  ha ha 17
17 ZE 18 EHEFE | 05 ha ha |FEMEFE | 05 ha ha 18
18] FE 19 KiE. BHE( 70 ha ha | k. B#EX| 7.0 ha ha 19
19| =2 % 20 awsz sz | 0.0 ha ha |messmsszaas | 0.0 ha ha 20
20| ZFE 21 ZHE. kE|l 1.2 ha ha |E#HxE. k| 1.2 ha ha 21
21| BE 22 JKFE 12.0 ha ha |7K%& 120 ha ha 22
29 Eﬁ% 23 . mans. mese | (0.2 ha ha | s, Eesx 0.2 ha ha 23
23 EE 24 FHEE | 12 ha ha |BHEEHE | 12 ha ha| 24
24 Eﬂ% 25 sumn.EeszAm | 3.5 hag ha |eeszaeszxm| 3.5 ha ha 25
25| B 26 K 1.7 ha ha |7K#id 1.7 __ha ha 26
26| ZE 27 FHhEFE | 06  ha ha [EE#1EFS | 06  ha ha 27
21 RE 28 BHHE AR 23 ha ha |B®ER. AE| 2.3  ha ha 28
28 RE 29 KT 47 ha ha | 7K i 47 ha ha 29
29| FTE 30 Kig. BHHE| 75 ha ha |k#E. B#EHx%| 75 ha ha 30
30| B 31 K 0.6 ha ha |7K%id 06 ha ha 31
31| FE 32 WREHR KFE| 3.8 ha ha |®8%®% k%) 3.8 ha ha 32
32 FE 33 Bumz ez 0.3 ha ha |[Besz ws®z| 0.3 ha ha 33
33 RE 34 JKHE 169 ha ha |7K## 169 ha ha 34
34 FE 35 EHHE | 21 ha ha |[FEHIEFE [ 21  ha ha 35
35 Eﬁ % 36 B, R, Rt 09 ha ha [Ezesn. Eesn. 2 0.9 ha ha 36
36| _E 37 K mzeznem | 405 ha ha |x& gxzenen | 405 ha ha 37
37 B2 38 =% 34 ha ha | &3 34 ha ha 38
38| BE 39 wamzeenen | 05  ha ha [*® mxzenzs | 05 ha ha 39
39 ZFE 40 = 1.3 ha ha [TEE 1.3  ha ha 40
40 FE 41 WREE. K| 0.9 ha ha [fESEZ. Af| 0.9 ha ha 41
41| ZE 49 KiE. BEBHE|l 6.2 ha ha |k#E. B#EHE| 6.2 ha ha 42
49 En:.\% 43 wasw. sesekm | (0.5 ha ha [sss=meszxm| (0.5 ha ha 43
43 ha ha ha ha
44 ha ha ha ha
45 ha ha ha ha
46 ha ha ha ha
47 ha ha ha ha
48 ha ha ha ha
49 ha ha ha ha
50 ha ha ha ha
51 ha ha ha ha
52 ha ha ha ha
53 ha ha ha ha
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